Economics 101

Homework #1 Answer Key

Fall 2008

1. Math Review 

a.  
[image: image1.emf]f(x)=-2x+16

f(x)=x/3-1/3
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b. Line A: slope=(12-0)/(2-8)=-2. Line B: slope=(10-4)/(31-13)=1/3

c. Negatively related for line A and positively related for line B

d. Line A: y=-2(x-2)+12=-2x+16. Line B: y=1/3(x-13)+4=x/3-1/3

e. –2x+16=x/3-1/3 => 49=7x => x=7, y=2

f. Line A: x-intercept=8, y-intercept=16. Line B: x-intercept=1, y-intercept=-1/3

2. Production Possibility Frontier

a. Point A is feasible, but not efficient.

b. Point B is feasible and efficient.

c. Point C is not feasible.

3. Production Possibility Frontier and Opportunity Cost

a.  
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b. The opportunity cost of producing one additional pound of cheese curds is 4/3 gallons of milk. The opportunity cost of producing one additional gallon of milk is 76/35 pounds of cheese curds.

c. The opportunity cost of producing 20 more gallons of milk is 5 pounds of Cheese.

d. The opportunity cost increases. This illustrates the Law of Increasing Opportunity Costs.

4. Comparative Advantage

a. The opportunity cost of solving 1 Math question for Ann is ½ Biology solutions. The opportunity cost of solving 1 Math question for Drew is 2/3 Biology answers.

b. The opportunity cost of solving 1 Biology question for Ann is 2 Math solutions. The opportunity cost of solving 1 Biology question for Drew is 3/2 Math solutions.

c. Drew has the absolute advantage in both Biology and Math solutions.

d. If they work together, Ann will specialize in Math answers and Drew will specialize in Biology answers.

e. Drew will trade Biology answers for Ann’s Math answers. The opportunity cost of solving 1 Biology question is 3/2 math solutions for Drew. Drew will charge at least 3/2 Math solutions for every Biology solution.

The opportunity cost of solving 1 Biology question is 2 Math questions for Ann. Ann is at most willing to pay 2 Math solutions for each Biology solution. Thus the price of 1 Biology answer is between 3/2 and 2 Math answers.
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